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Algebra IT Six weeks test review
Graph each system of inequalities:
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D) Find the Minimum for
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5. Becky makes Pifiatas are made to sell at a craft fair.
It takes 2 hours to make a mini pifiata and 3 hours to
make a regular-sized pifiata. Becky makes a profit of
$12 for each mini pifiata and $24 for each regular-sized
pifiata sold. Becky has no more than 30 hours to make
pifiatas and wants to have at least 12 pifiatas to sell.

Write the objective function to maximize Becky's

rofit.
Prett P= 12X + Zq\[
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Write the restrictions in order to help Becky determine
the number of each size pifiata to make.
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the indicated element.
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Solve for the indicated variables.
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Find the inverse. Determine if the two matrices are inverses. Explain why or why not.
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Perform the indicated operations. If they cannot be performed EXPALIN wh not.
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3x+y—-2z=-7
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33. Joan has 18 coins consisting of dimes and quarters,
totaling $3.75. Determine the number of dimes and quarters
she has. (Write a system of equations and solve.)
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34. On‘M'Bnday, Brad bought 3 drinks and 5 sandwiches totaling
$19.75. On Tuesday he bought 4 drinks and 2 sandwiches
totaling $10.00. Determine the cost of each drink and sandwich
(All drinks and all sandwiches cost the same.)
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